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Flrst Semester B. A Degree Exammatlon February 2022
' Frrst Degree Programme under CSS
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. Economrcs o -
Complementary Course e | (for Hrstory and Po!rtlcal Scrence)
| EC 1131 FOUNDATIONS OF ECONOMIC THEORY . T
(2017 Admrssmn Onwards) B L

.Tir.nezéHours,._ IR ST | -'-l_'Max."Marks:SO_'
| o SECT!ON-;I:'- |
" Answer all du'esti_o_ns.._: anh queetion oerr'ies 1mark
1 No‘rmati\re:ECOno_mics R |
2 -Marginia.' Utiity
3. Wealth Definition
| '4.'-_-“ "Division of_}a_bou; -
5. Fixedcost
6. Opportunity cost

7 - Equilibrium

PT.O.




8.

§ .".‘-' g._ -
10.

Market.

| Giffen goods .

Law of supply |
(10 x 1 = 10 Marks)

SECTION - II

Answer any elght questlons not exceedmg one paragraph Each questron carnes
- 2 marks. .

g
_1'2';j
13
14,
15,
6.
_'17.'
18,
19
21
22.

23
24,
. 25.

_- 'What are the major detem"lmants of demand’?

Wnte a note on the Scarcrty defi nrtton of economlcs

-What is meant by extensmn and contract:on of demand’?

Explarn the degrees of elastlclty of demand.

Dlstingmsh between complementary goods and substrtute goods

'What are the assumptlons of cardlnal utﬂrty theory’?

What are the assumpt;ons of the law of drmrmshrng Fnargmal utrllty’?

What is meant by Engel sLaw?
What is meant by break even approach’? '

leferentlate between expllcrt cost and |mpl|cst cost.

Explain the relatronshrp between AC and MC.

Why the Long run average cost curve L shap_ed. o
- Lo R (8 x 2 = 16 Marks)
SE.CTION—III- R S

) Answer any srx questrons not exceedzng 120 words Each questlon carries 4 marks

Explarn the central problems of an economy
Explam Marshalilan method of Consumer surplus

Crltlcally examlne Gossen s f" rst law of Marglnal Utlllty
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26.
Y
28.
29
30.

31._'_

_ 3.

35

-Cntl_catly- examl_ne subsistence theory of wages.

Expiai'n the 'va'noos types of prOdUction function.

Describe Production POSSIbIIIty Curve Explam ItS mgnn‘“cance in eoonomlo

analysis. . - S : -

VWhat are the features of Monopollstlc Competltlon’? |

Explam the charactenstlcs of ohgopoly market structure

Descnbe the relatlonshlp between AR MR and elastncrty of demand
(6 x4 =24 Marks)

SEleoN -V

= Answer any two duestlons not exceedlng four pages Each ques"tlon carnes
15 marks. . : o
3. Ex;)_tain ews' of-'teturhé t'o-Scale.' .
'Descri.be-'-s-hort run costs of traditional th'e'ory.'
; | .34_. Exptam the nature .soope and mgnnﬁcanoe of economlos
Explam how perfect competlt|on is dlfferent trom monopoly market sntuatlon

(2 x 15 = 30 Marks)- _
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